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ANA BELL: So let's see if you can figure out this next error. Oh, nice. Looks like 100% are getting it right
so far. So we have L is equal to 3 for i in range length L print i. And this is the error message
telling me the file, the line number, and the actual line that was wrong and then a description

of the error type error. OK?

And everyone's getting it right, which is, what's the problem here? We're not allowed to call
length on an integer. OK? If you go through the other choices, you'll see that those you can

actually do. And you can even test those out yourself before you settle on the right answer.



